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Laplace /712 u’ =d(z —s) Uz,s) =5
Helmholtz %25 W+ k2u = 6(z — s) Uz, s) = S
Wave 52, 02% — % Uz, s,t) = fH(2cctfr)
= 6(z — 5)8(t)
U
Laplace 7f2 V2u = 2716(x — ) U(z,s) = In(r)
Helmholtz 8%t | V2u+ku=2rd(x —s) | Ulz,s)= —2H (n)
W B R Opjj = 0q(z — 3) Kelvin fi#
B8 —Upq (, 5)
51 —Tpe(x, s)
=
Laplace /%2 V2u = 4né(z — 5) U(z,s) ==L
Helmholtz /725 V2u + k*u = 4n6(x — ) U(z,s) = ==
Wi H B Opji = Og(2 — 8) Kelvin fi#
BT —Upy(z, 5)
A IR —Tpy(z, )

—HE 35 ) B E 8 R 4 52 = (Laplace and Helmholtz /572 ):

u(@) = {T(s,2)u(s) — U(s,x)t(s)} |:=

t(z) = {M(s,z)u(s) — L(s,z)t(s)} i<,

—iffe % 7 B 1 558 U 4> /772 X (Laplace and Helmholtz 7772 ):

lim w(z) = lim {T(s,z)u(s) — U(s, z)t(s)} |°=°

z—at z—at

lim w(z) = lim {T(s,z)u(s) — U(s,z)t(s)} =

z—b~ z—b~

lim t(z) = lim+{M(s,w)u(8) — L(s,z)t(s)} |3=h

z—at T—a

lim t(z) = lim {M(s,z)u(s) — L(s,z)t(s)} |°=°

z—b~ z—b—



THER B (E 8 R g 72 = (Laplace and Helmholtz 572 ):

2mu(z) = /B T(s,z)u(s)dB(s) — /B U(s, z)t(s)dB(s)

2rt(z) = /B M(s, z)u(s)dB(s) — /B L(s, 2)t(s)dB(s)
THE R R E 8 RS 2R (Laplace and Helmholtz 572 ):

ru(z) = CPV /B T(s,)u(s)dB(s) — RPV /B U(s, z)t(s)dB(s)

rt(z) = HPV /B M(s, z)u(s)dB(s) — CPV /B L(s, 2)t(s)dB(s)
— S P BB 8 R 4 2R (Navier 772 ):

i (2) = /B Use (s, 2)t:(s)dB(s) — /B T (s, x)us(s)dB(s)

t(z) = /B Lix(s, @)t:(s)dB(s) — /B M (s, )ui(s)dB(s)
— i FEEHEE RE S 2R (Navier 772 ):

%uk(x) — RPV L Use(s, 2)t;(s)dB(s) — CPV /B T (s, 2)us (s)dB(s)

%tk(m) _cpv /B Lis(s, 2)t:(s)dB(s) — HPV /B Mg (s, 2)ui (s)dB(s)
e ) B R S 52 R (Laplace and Helmholtz 572 ):

drru(z) — /;9 T(s, z)u(s)dB(s) — /;9 U(s, z)t(s)dB(s)

drt(z) = /B M(s, z)u(s)dB(s) — /B L(s, 2)t(s)dB(s)
=48RR B8R 5 2R (Laplace and Helmholtz 472 ):

2ru(z) = CPV / T(s, z)u(s)dB(s) — RPV / U(s, z)t(s)dB(s)

B B
omt(z) = HPV / M{(s, z)u(s)dB(s) — CPV / L(s, 2)t(s)dB(s)
B B

S4B SRR A 2R (Navier 772 ):

() = /B Use(s, 2)t;(s)dB(s) — /B T (5, 2)us (3)dB(s)

te() = /B Lix(s, o)t (s)dB(s) — /B M (s, @)ui(s)dB(s)
SHEE R B8 RS R (Navier 712 ):

%uk(m) _ RPV /B U (s, 2)ti(s)dB(s) — CPV /B T (s, z)ui(s)dB(s)
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